Stiickliste

C1
Cc2

=100n (100 nF,SMD 1206 X7R, Reichelt X7R-G1206-100N)
=100n (100 nF,SMD 1206 X7R, Reichelt X7R-G1206-100N)
=100n (100 nF,SMD 1206 X7R, Reichelt X7R-G1206-100N)
=100n (100 nF,SMD 1206 X7R, Reichelt X7R-G1206-100N)
=47n (47 nF,SMD 1206 X7R, Reichelt X7R-G1206-47N)
47n (47 nF,SMD 1206 X7R, Reichelt X7R-G1206-47N)

= 47n (47 nF,SMD 1206 X7R, Reichelt X7R-G1206-47N)
=47n (47 nF,SMD 1206 X7R, Reichelt X7R-G1206-47N)
=100n (100 nF,SMD 1206 X7R, Reichelt X7R-G1206-100N)
=100n (100 nF,SMD 1206 X7R, Reichelt X7R-G1206-100N)
=100n (100 nF,SMD 1206 X7R, Reichelt X7R-G1206-100N)
= 47n (47nF, Reichelt X7R-2,5 47N)

47n (47nF, Reichelt X7R-2,5 47N)

= 47n (47nF, Reichelt X7R-2,5 47N)

= 47n (47nF, Reichelt X7R-2,5 47N)

= 1000P (SMD 1812, 1KV, Farnell 302-0060)

= 1000P (SMD 1812, 1KV, Farnell 302-0060)

=1000p (SMD 1812, 1KV, Farnell 302-0060)

1000P (SMD 1812, 1KV, Farnell 302-0060)

1000p (SMD 1812, 1KV, Farnell 302-0060)

=1000p (SMD 1812, 1KV, Farnell 302-0060)

=1000p (SMD 1812, 1KV, Farnell 302-0060)

=1000p (SMD 1812, 1KV, Farnell 302-0060)

=1000p (SMD 1812, 1KV, Farnell 302-0060)

= 1p (1 uf ,SMD 1206, Reichelt X7R-G1206 1,0/5)

680P (SMD 1812, 1KV, Farnell 302-0058)

1p (1 uf ,SMD 1206, Reichelt X7R-G1206 1,0/50)

=100n (100 nF,SMD 1206 X7R, Reichelt X7R-G1206-100N)
=100n (100 nF,SMD 1206 X7R, Reichelt X7R-G1206-100N)
= 1p (1 uf ,SMD 1206, Reichelt X7R-G1206 1,0/5)

= 150P 1KV (SMD 1812, 1KV, Farnell 302-0010)

=100n (100 nF,SMD 1206 X7R, Reichelt X7R-G1206-100N)
1000y (1000 pf axial, reichelt AX1.000/16)

1p (1 uf ,SMD 1206, Reichelt X7R-G1206 1,0/5)

= 1p (1 uf ,SMD 1206, Reichelt X7R-G1206 1,0/5)

= 1N1004 (Reichelt 1N 4004)
= 1N1004 (Reichelt 1N 4004)
= MBR2545CT

= 35uH

= SMB Buchse (Reichelt SMB EBU-L174)
= SMA (Reichelt SMA BU F)

= 10k (10K 25 Turns, Reichelt 64Y-10K)
=10k (10K 25 Turns ,Reichelt 64Y-10K)

= 2k7 (Reichelt Metall 2,70K)

= 1k (1K smd 1206 Reichelt SMD 1/4W 1,0)

= 1k (1K smd 1206 Reichelt SMD 1/4W 1,0K)

=1k (1K smd 1206 Reichelt SMD 1/4W 1,0)

= 10R (10R smd 1206 Reichelt SMD 1/4W 10)
10R (10R smd 1206 Reichelt SMD 1/4W 10)
100k (100k smd 1206 Reichelt SMD 1/4W 100K)
= 100k (100k smd 1206 Reichelt SMD 1/4W 100K)
= 10R (10R smd 1206 Reichelt SMD 1/4W 10)

= 10R (10R smd 1206 Reichelt SMD 1/4W 10)

= 1k (1K smd 1206 Reichelt SMD 1/4W 1,0)
=56R (56 E 2W, Reichelt 2W METALL 56)

56R (56 E 2W, Reichelt 2W METALL 56)

3.3E (3.3E smd 1206 Reichelt SMD 1/4W 3,3)

= 3.3E (3.3E smd 1206 Reichelt SMD 1/4W 3,3)

= 3.3E (3.3E smd 1206 Reichelt SMD 1/4W 3,3)

= RD100HFF1 (RD 100HFF1,Funkamateur Box 73)
= RD100HFF1 (RD 100HFF1,Funkamateur Box 73)



Trl
Tr2

(Reichelt BN43-202)

VR1 = 78L05 (Reichelt pA78LO5)



